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BRES. 2ES L—R 155
# O BFE. TR, HiE 24 % 2:& 5 FiY
B, 8 EE @ @ @ ® ® @ #® P BE LAY BE EIE LAY
AR5 6 2 1 0 20010 0 333 50.0 50.0 O 337 3.428 3.39 3.16 3.464
2401 (MN—H£%) 6 2 1 0 2 0 0 1 0 0 33.3 50.0 50.0 0 3.37 3.428 3.39 3.16 3.464
B_52 (MNG%)
(ZDHE—AZ) |-
nma 10 1 0 2 1 1 2 0 3 0/ 10.0 10.0 30.0/ 0| 3.39 3.428 3.41 5.20 3.491
AR 245A BB 5 0 0 0 0O 1 0 3 1 0O 0.0 0.0 0.0/ 0| 3.45 3.514| 3.46 6.80 3.549
52/% SRR 66 1 8 913 715 8 5 0 1.5 13.6 27.2| 0 3.37 3.435 3.42 4.80 3.504
LIS 199 2 2 3 3 3 3 1 2 0/ 105 21.0 36.8/ 0| 3.37 3.416 3.41 4.36 3.481
AR5 64 7 613 7 811 9 3 0 10.9 20.3 40.6| 0 3.36 3.423 3.40 4.35 3.491
9008 (MN—H#%) 40 3 4 8 4 6 8 7 0 0 7.5 17.5 37.5 0 3.36 3.423 3.39 4.45 3.475
(RDA—AT) 19 1 2 5 3 1 3 2 2 0 5.2 15.7 421 0 3.41 3.482| 3.43 447 3.528
 FRR EnfE o | ofte®%)| 5 3 0o 0 0 1 0 0O 1 0 60.0 60.0 60.0/ 0| 3.37 3.448| 340 320  3.475
nma 11 1 0 1 2 1 2 3 1 0 9.0 9.0 18.1| 0| 3.37 3.432 3.40 5.27 3.489
firtx 33HA RERIG 4 0 0 1 1 1 0 1 0 O 0.0 0.0 25.0/ 0| 3.37 3.455| 3.39 4.75 3.482
297% SRAR 18 0 2 5 0 4 1 3 3 0 0.0 11.1 38.8 0| 3.36 3.453| 3.42 5.00 3.504
L5 9 1 0 2 1 2 1 2 0 0 11.1 11.1 33.3 0| 3.39 3.452| 3.42 4.55 3.490
A 11 0 3 2 3 11 0 1 0 0.0 27.2 454 0|3.36 3.463| 3.41 3.90 3.498
2418 (MN—£%) 5 0 2 1 2 0 0 0 0 0 0.0 40.0 60.0 0 3.36 3.463 3.39 3.00 3.470
(ZOAft—H%) 6 0 1 1 1 1 1 0 1 0 0.0 16.6 33.3 0 3.41 3.489 3.44 4.66 3.522
N $FH %Z’E 10 (ROMLGH) | - : :
nma 13 1 3 1 4 3 0 1 0 O 7.6 30.7 38.4| 0| 3.34 3.420| 3.38 3.69 3.458
JEAR 245A FRERIS 5 0 0 0 0 21 2 0 0.0 0.0 0.0/ 0 3.39 3.445 3.40 7.00 3.457
537% SRAR 77 7 18 14 9 810 7 4 O 9.0 324 50.6/ 0| 3.34 3.397 3.39 3.92 3.471
LIS 2. 0 6 4 3 3 2 2 1 0 0.0 28.5 47.6/ 0| 3.35 3.424| 3.38 4.04 3.458
ARis 14 0 1 2 3 3 0 410 0.0 7.1 21.4| 0 3.34 3.425| 3.41 5.07 3.510
2421 (MN—£%) 6 0 1 1 1 2 0 1 0 0 0.0 16.6 33.3 0 3.34 3.425 3.37 4.33 3.463
(ZOAft—H%) 8 0 0 1 2 1 0 3 1 0 0.0 0.0 12.5 0 3.43 3.514 3.45 5.62 3.545
'S #HBH BESL 10| (zofcE| - : :
na 4 0 0 0 1 1 1 1 0 O 0.0 0.0 0.0/ 0| 3.39 3.478 3.40 5.50 3.491
LLIF% 24HA FRERIE 12 0 2 1 2 2 0 1 4 0 0.0 16.6  25.0| 0| 3.35 3.449| 3.38 5.33 3.475
507% SRR 7 3 0 0 1 2 0 1 0 0| 428 428 42.8/ 0/ 3.36 3.468| 3.41 3.42 3.499
L5 52 1 14 812 8 5 3 0 1 1.9 28.8 44.2 0| 3.33 3.389| 3.37 3.76 3.450
ARis 70 2 512171411 7 2 O 2.8 10.0 27.1| 0 3.30 3.395| 3.36 4.52 3.470
3205 (MN—fi%) 40 2 4 9 11 7 5 2 0 0 5.0 15.0 37.5 0 3.30 3.395 3.34 4.00 3.446
(Db —H%) 22 0 1 2 4 6 5 2 2 0 0.0 4.5 13.6 0 3.33 3.439 3.39 5.18 3.518
5 4k R 20 (oftcH) 8 0 O 1 2 1 1 3 0 O 0.0 0.0 125 0| 331  3421| 335 537 @ 3.462
na 0 1 0 3 1 1 2 1 0 0.0 11.1 11.1| 0| 3.30 3.408| 3.33 5.22 3.437
ARt 328A FRERIG 5 0 0 0 3 0 1 0 1 O 0.0 0.0 0.0/ 0 3.34 3.443| 3.35 5.20 3.456
407% SRAR 14 1 0 4 3 4 0 1 1 0 7.1 7.1 357 0| 3.31 3.423| 3.33 4.28 3.435
LIS 17 1 2 5 2 3 1 2 1 0 58 17.6 47.00 0| 3.30 3.396| 3.33 4.17 3.434
ARi5 67 9211312 3 4 4 1 0 134 44.7 64.1 0 3.31 3.381 3.36 3.17 3.452
3004 (MN—fi%) 44 5 14 9 12 1 1 2 0 0 11.3 43.1 63.6 0 3.31 3.381 3.34 3.02 3.434
(ZDAh—H%) 17 3 5 3 0 1 2 2 1 0 17.6 47.0 64.7 0 3.33 3.424 3.40 3.58 3.500
AL T (20| @oftcs) 6 1 2 1 0 1 1 0 0 O 16.6 50.0 66.6| 0/ 3.35 3.412| 3.37 316  3.450
na 8 0 1 3 0 1 1 2 0 0 0.0 12,5 50.0 0| 3.34 3.405| 3.35 4.50 3.424
ARt 308A ARG 7 0 0 4 0 1 0 1 1 0 0.0 0.0 57.1| 0 3.34 3.412 3.34 4.57 3.438
415% SRAR 2 0 5 3 2 7 5 0 3 0 0.0 20.0 32.0/ 0| 3.33 3.422| 3.37 4.64 3.469
LLB5 16 0 4 2 6 2 1 1 0 O 0.0 25.0 37.5/ 0| 3.32 3.405| 3.34 3.81 3.431
iz 49 13 7 11 8 6 3 0 1 0| 26.5 40.8 63.2 0 3.30 3.387| 3.36 3.02 3.441
2815 (MN—fi%) 29 9 6 5 3 0 0 0 0 31.0 51.7 72.4 0 3.30 3.387 3.33 255 3.419
(DB —HR) 11 1 0 3 3 2 2 0 0 0 9.0 9.0 36.3 0 3.36 3.441 3.41 4.00 3.498
7 ﬁ *tﬁi 20 (ZOfhGH) 9 3 1 2 0 1 1 0 1 0 33.3 44 4 66.6 0 3.30 3.399 3.36 3.33 3.444
na 1 0 0 1 2 1 1 1 0 142 142 14.2| 0| 3.34 3.432| 3.36 5.14 3.456
frix 28HA 1REE 9 1 0 1 2 3 1 0 1 0 111 111 222 0| 3.35 3.422| 3.38 4.55 3.470
447% SRAR 19 2 4 3 0 3 2 1 3 1| 105 31.5 47.3| 0/ 3.31 3.386| 3.35 4.27 3.427
LLB5 30 1 3 5 2 5 8 3 2 1 3.3 13.3  30.0/ 0| 3.31 3.399| 3.37 4.82 3.463
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R i @ @ ® ® @ L4 S Xt e EH HE LAY HE BE LAY
AR 5 1 0 1 010 2 0 O 200 200 400 O 4.60
2401 (MN—4&) 5 1 0 1 0 1 0 2 0 0 20.0 20.0 40.0, 0 4.60
B_52 (MNG@)?.)
(ZDfE—HR)| -
1 BIE @A o] otew) -
ne
AL 245 R8I -
527% PEZIN i3 7 1 2 1 1 1 0 0 O 53.8 61.5 76.9, 0 2.30
LLIE% 3 01 0 2 0 O O O O 0.0 33.3 33.3] O 3.33
i 17 3 4 2 3 1 2 1 1 0 176 411 529 0 3.58
9008 (MN—#) 10 2 3 2 1 0 2 0 0 0 20.0 50.0 70.0/ © 3.00
(ZOf—H%) 5 1 1 0 2 1 0 0 0 0 20.0 40.0 40.0, 0 3.20
2 B ER T A Gl 0 0 o 0 0.0 0.0 00/ 0 7.50
nme 3 1.1 1 0 0 0 0 0 O 33.3 66.6 100.0 2.00
ERix 33HA R -
297% PETIN 2 0 0 0 0 1 0 1 0 O 0.0 0.0 0.0 O 6.00
LLIF5 7 4 1 0 1 1 0 O 57.1 71.4 714/ O 2.28
AR 2 0 0 2 00 0 O OO 0.0 0.0 100.0 O 3.00
2418 (MN—EQ)
A-184 (MNGH#) -
(oft—#%)| 2 0 0 2 0 0 0 0 0 O 0.0 0.0  100.0/ 0 3.00
ne 1 0 0 0 0 1 0 O 0 O 0.0 0.0 0.0 O 5.00
AR 24HH AR -
537% RN 12 3 4 2 3 0 0 0 0 0 250 583 750 1 2.41
LB 4 1 0 0 2 1 0 0 0 O 25.0 25.0 25.00 0 3.50
ARt 2 2 0 000 OO O O 1000 100.0 100.0 O 1.00
2421 (MN—#) 2 2 0 0 0 0 0 0 0 0 1000 100.0  100.0/ O 1.00
(ZDf—AR%)| -
'Y HH E3A 10 (=oftcs) -
ne
LLIFZ 248A FRELIE 2 0 1 0 0 0 0 1 0 O 0.0 50.0 50.0/ O 4.50
507% AR 2 0 0 0 2 0 0 0 0 O 0.0 0.0 0.0 O 4.00
LLIE5 15 2 4 3 3 3 0 0 0 O 13.3 40.0 60.0 O 3.06
BRI 22 3 6 3 1 4 3 2 0 0 13.6 409 545 0 3.63
3205 (MN—#) 11 1 3 3 1 2 0 1 0 0 9.0 36.3 63.6| © 3.36
(ZOM—A%) 1 2 0 0 1 1 1 0 0 16.6 50.0 50.0, 0 3.83
5| {kiE R (20 (zoftcH) 1 0 0 1 0 20.0 40.0 40.0/ 0 4.00
nmea 1 0 1 0 0 0O O O O 0.0 100.0 100.00 O 2.00
ARt 3284 AR
40i% AR 1 0 0 1 0 0 0 O 0 O 0.0 0.0 100.00 O 3.00
LLIE5 3 01 0 1 1 0 O O O 0.0 33.3 33.3] O 3.66
AR 18 1. 2 3 4 3 5000 55 16.6 33.3 O 4.16
3004 (MN—#) 11 1 0 1 3 2 4 0 0 0 9.0 9.0 18.1] 0 4.54
(oft—#%)| 3 0 2 0 0 0 1 0 0 O 0.0 66.6 66.6] 0 3.33
AL T 20| @ofc®) 4 0o o 2 1 1 0 0 0 0 0.0 0.0 50.0, 0 3.75
mea 2 0 1 01 0 0 0O 0 O 0.0 50.0 50.0/ O 3.00
BRix 30HA fRZIE 1 1.0 00 0 0 0O O O 100.0 100.0 100.00 O 1.00
417% REZIN 3 01 0 1 0 O 1 0 O 0.0 33.3 33.3] O 4.33
L5 5 3 1.1 0 0 0 0 O O 60.0 80.0 100.0/ O 1.60
AR 19 5 4 2 5 2 1 0 0 0 263 473 578 0 2.89
2815 (MN—#) 12 4 1 2 3 2 0 0 0 0 33.3 41.6 58.3) 0 2.83
(oft—h%) 3 0 1t 0 1 0 1 0 0 O 0.0 33.3 333 0 4.00
7 i X# 20 (ofe®) 4 1 2 0 1 0 0 0 0 0 25.0 75.0 75.0 0 2.25
mea 2 1 0 0 0 1 0 0 0 O 50.0 50.0 50.0/ O 3.00
ARtz 28HA fRZIE 1 1.0 00 0 0 0O O O 100.0 100.0 100.00 O 1.00
447% REZIN 2 1 1 0 0 0 0 0 0 O 50.0 100.0 100.00 O 1.50
LLIE5 11 3 1 2 1 0 3 1 0 O 27.2 36.3 545/ 0 3.63
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BRES. 2ESY L—R 15 5 PR
# 0. BFE MR EEHK 1% 25 < 1 55 T
#. FE5 ® @ ® @ ® ® @ -4 # PO g E B HE £V HE FIE LAY
2401 (MN—H#ig)| -
B-52 (MNGE) |-
(ZOAD—AE) |-
1 Bl @|a o (o) -
e
B 2458 FRERIE e
52i% JEAR 7 1 4 1 0 0 1 0 O O 14.2 71.4 85.7, O 2.57
LB 4 1 0 O 0 1 1 0 1 O 25.0 25.0 25.00 O 5.00
fRix 10 0 3 1 2 2 1 0 1 O 0.0 30.0 40.0 O 4.10
9008 (MN—#&) 7 0 3 1 2 0 1 0 0 0O 0.0 42.8 57.1] 0 3.28
(Z0A—AE) 2 0 0 0 0 2 0 0 0 O 0.0 0.0 00/ 0 5.00
A TR EnfE | o0 | (zofteH) 0o 0 0 o0 0.0 0.0 0.0 0 8.00
na 1 0 0 O 0O O o 1 0 o 0.0 0.0 0.0 O 7.00
fiRizx 33HA FRERIE : . : .
297% JEAR 3 1.0 1 0 O O 1 0 O 33.3 33.3 66.6/ 0 3.66
LB 3 0 0 1 1 1 O O 0 O 0.0 0.0 33.3] O 4.00
SR -
2418 (MN—H#ig)| -
A-184 (MNGH#)| -
(ZOA—AE) |-
na 3 0 1 0 O 1 1 0 0 O 0.0 33.3 33.3] O 4.33
yEAn 2458 FRERIE
53m% JEAR 6 0 1 1 0 O 3 0 0 1 0.0 16.6 33.3] O 4.60
LB 2 1 1 0 0 O 0 o o0 o 50.0 100.0 100.0f O 1.50
ARz 1 0 0 0 0 O1 00O 0.0 0.0 0.0 O 6.00
2421 (MN—#%) 1 0 0 0O 0 0O 1 0 0 O 0.0 0.0 00/ 0 6.00
(ZOA—AE) |-
e 1 0 0 01 0 OO0 0 O 0.0 0.0 0.0/ 0 4.00
LLIF5 245A {RERIE 1 0 0 O O O 1 0o O O 0.0 0.0 0.0 O 6.00
50i% AR 1 0 0 1 0 0 0o 0o 0 o 0.0 0.0 100.0f O 3.00
LLIB& 6 0 1 1 2 2 0 0 O O 0.0 16.6 33.3] O 3.83
ARz 11 1 3 3 0 4 0 0 0 O 9.0 36.3 63.6 0 3.27
3205 (MN—1%) 7 1 1 3 0 2 0 0 0 O 14.2 28.5 714/ 0 3.14
(ZOAt—A%) 2 0 0 0 0 2 0 0 0 O 0.0 0.0 00/ 0 5.00
5 4k R 20 (oftcH) 2 0 2 o0 0 0.0  100.0  100.0/ O 2.00
Arix 32HA FRERI
407% JEAR 2 0 0 1 1 O O 0o 0 O 0.0 0.0 50.00 O 3.50
LLIB& 2 0 0 0O 0 1 1 0 0 O 0.0 0.0 0.0 O 5.50
ARz 12 2 3 2 1 1 2 1 0 0 16.6 416 583 O 3.50
3004 (MN—1%) 5 1 1 1 0 1 1 0 0 O 20.0 40.0 60.0, 0 3.40
(ZOAt—A%) 3 0 2 0 1 0 0 0 0 O 0.0 66.6 66.6| 0 2.66
AW H#T 20 ofes)| 4 1 o 0 0 0 0 25.0 25.0 50.0/ 0 4.25
na 2 0 0 O 1 1 0 O 0 O 0.0 0.0 0.0 O 4.50
ARt 308A FRERI
A15% PEZ/N
L= 1 0 0 1 0 0 0o 0o 0 o 0.0 0.0 100.0f O 3.00
ARis 6 3 1 11 0 0 0 0 0O 500 66.6 83.3 O 2.00
2815 (MN—#&) 4 2 1 1 0 0 0 0 0 O 50.0 75.0  100.0| O 1.75
A-62 (MNGH) | --- :
(ZOAB—AE) |-
7 it KiE 20 (zoftcE) 2 1 0 0 1 0 0O 0 0 O 50.0 50.0 50.0/ 0 2.50
iz 28HA RERE 1 0 0 00O O 1 0O 0.0 0.0 0.0/ 0 7.00
L= 6 0 2 3 0 O 1 0 0 O 0.0 33.3 83.3] O 3.16
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